LABJNDu8-Dreieckshelligkeit t*
Yn=Yw nc=100,

L ABINDUs =IN(A 17 A2 Y)(A2rAon)  (Ynd/100<Y<=Y,o)
1 ABINDU =IN(A 10 tA2)/(A2Aon) - (X=YTY)
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Normfarbwertdifferenz
Yoc=Yw - nc=100,
tLaBINDUs=IN(A1n+A2Y)/(A2nAcn)  (Yae/100<Y<=Y,o)
L ABINDU =IN(A 10 tA2X) (A2iAon) - (X=YTY)
dY=Agn(A1r+AzY)=Aon(A1+AgX). Siehe CIE 230:2019
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log (AY/Y) LABJINDuUS
. Normfarbwertemfindlichkeit
SHEYY Yoc=Yw - nc=100,

tLaBaNDus=IN(A1n+A2Y)/(A2rA0n)  (Yne/100<Y<=Y,o)

1 ABINDU =IN(A 10 tA2X)(A2iAon) - (X=YTY)

dY/Y=Aon(A1ntAY)IY=Agn(A1tA XY
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LABJNDu8
Normfarbwertkontrast

Yoc=Yw - nc=100,
L ABINDUB=IN(A 17+ AY)(A2nA0n)  (Ynd/L00<Y<=Y;,0)
t*LaBanDus=IN(A1ntA2X)/(A2Aon)  (X=YTYY)
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LABJINDu8 relative Dreieckshelligkeit t*/t*,
Y= Yw nc=100,

tLagaNDug =IN(A1n+AY)(A2rAon)  (Yad/100<Y<=Y,o)
L AgaNDus =IN(A 1n+A2X)/(A2iA0n) - (X=YTY)
t+(3,6)=491 *,(18)=1116 *\,,(90)=1737

tgft* ;=1,55, Ay,=0,6666, 4,=0,0699, ¢=0,67

{1 g/t*4=1,00, A1=0,011, 4,=0,0038

t*3 gt¥,=0,43,15,=1115,68 Y=18

log[t*/t* ,]=0, m,=0,33
Anwendungs-|
bereich

x,=1

Xw=5

1 2xn=0,2
CGUB0-2A
log(AY/AY,)

AY/AY,

LABJNDuS relative
Normfarbwertdifferenz
Yoc=Yw - nc=100,
tLagaNDus =IN(A1n+A ) (A2rAon)  (Yad/100<Y<=Y,o)
tLaganDus =IN(A 1ntA2X)(A2iAon) - (X=Y/Yy)
dY/dY =(A1tAX)/(A1+AY)
dYoy/dY,=4,43, Ay=0,6666, ,=0,0699, ¢=0,67
dY,g/dY,=1,00, A,;=0.011, A.=0,0038 _
dY; gdY,=0,31 Y, =18, dY5.05
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log [(AY/Y) I (AYIY)] LABJINDUS relative
Normfarbwertempfindlichkeit
S/Su=OYMIAYY), yomy TS

tLaganDus =IN(A1n+A ) (A2rAon)  (Yad100<Y<=Y,o)
tLaganDus =IN(A1ntA2X)(A2iAon) - (X=Y/Yy)
@Y/YY(AYIY)=[(A 1+ A X (A 17 +A)

(dY/Y)o/(dY/Y )88, Ayy=0,6666, 4,=0,0699, ¢=0,67

(@AY} g@YIY=1.0u, 5 y

(@Y/Y} g(dY/YV)=1,55 Yo=18, dY=0,05
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log[(dY/YY(dY/Y),]=0, m=-0,13 1
t*,=1116 dY,=0,05 d¥,/Y,=0,003(
=1
Xw=5
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log [(Y/AY) I (YIAY),] LABJNDuS relativer
Normfarbwertkontrast
CelCru=(YIAI(YIAV)u ¥, =Yy - =100,

tLagaNDus =IN(A1n+A ) (A2rAon) - (Yad100<Y<=Y,o)
tLaganDus =IN(A 1ntA2)(A2iAon) - (X=YTYy)
(YAYY(Y/IAY)=[XI(A A )(A 10+ A L)
(YIdY)g/(Y/dY)=1,12, A,=0,6666, A,=0,0699, ¢=0,67
(Y/dY)g/(Y/dY)=1,00, A,1=0,011, A=0,0038
(YIdYY g(Y/dY)=0,64 Y, =18, dY=0,05

log[(Y/dY)(Y/dY),]=0, m=0,13
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